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Original situation:

Model: usedmodel
View: firstViewFromSeveral and secondViewFromSeveral and thirthViewFromSeveral and fourthViewFromSeveral
Controller: usedController

Your solution:

Model: usedmodel
View: firstViewFromSeveral and secondViewFromSeveral and thirthViewFrom-

Several and fourthViewFromSeveral
Controller: usedController

Preferred solution (put with a macro, not hard coded):

Model: usedmodel
View: firstViewFromSeveral

secondViewFromSeveral
thirthViewFromSeveral
fourthViewFromSeveral

Controller: usedController


